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fREE (1997 -2001)

1997
Mathematics 1
. @ (-3)x+3) ()
2. @ 3 (b
3. (@ «x%y (b)
4 ) x>121 (i)
x>9
5. @ 5 ®) 31
6. () 10¥3 km (b)
7. (@) 2:3 (®)
7
8, -
(a) > 2 ()
9. (a) 30°, 60° by 2:1
10. (a) 312120 (b)

(a+b)(c—d)

23-42
10

x<7 or x>9

290°

$72

2x? ~15x +26 =0

2001

©)

V3

1

(b)

(©

(@ (@

Mean = 64 4

(ii) Mode =95
(iti) Median= 78
(iv) Standard deviation = 30.6

This is because the distribution of marks in the Mathematics test
is biased to the high end.

() Let the student scored x marks in the English test.
x—63 _
5= 04
x=69

(i)

(iii)

)

Y

=

Percentage of classmates scored fewer marks than Lai Wah
in the Mathmatics test

=17 100%
35

= 48 6%

The standard scorc of Lai Wah in the English test
7863

15

=1
-- The marks of the English test is normally distributed

s More than half (or about 84%) of her classmates scored
less than her.

Hence Lai Wah performed better in the English test than in the
Mathematics iest relative to her classmates.

The mean of the marks in the English test after the wrong mark
has been corrected

10
I+=—=
6+35

63.3



12. (@) ()

VN = 3tan@ m

3
cost

m

(i) Capacity=%-62-3tan0 m*

b O

(ii)

3

=36tand m
Total surface area = 4-8.— 3 m?
2 cos#
. 36 2
T osg ™

The base areas of the greenhouscs are the same

2 =36
. 6lz
n

The capacities of the greenhouses are the same
36h = 36tand
h =tand

(iii) If the total surface areas of the greenhouses are equal, then

(iv)

m‘2+2m‘h=c3—6

0s &
6. =36
36+27 J; tan @ v

36+12J:_rtan0: 36

cosd
_ 3
3+7 mng_mcosﬂ

o___3 = { >
3+ /7 tan6 1 s = 0.00960 > 0
3

= —0.0567 <0

20—
3++/7 tan6 036"

(*) has a root between 61° and 62° .

13.

(a)

(b)

@

(i)

®

(i)

(iii)

From the graph, y is minimum when x = 10
~. Number of belts in a batch = 10

From the graph, y <90 when x322
ie. x=23..,11
. Number of belts inabatch=2,3,4, ..., 11

144 =32 ~173) +c, c= 186

If H=120,then x*-17x+186=120
X =17x+66=0
x*=20x +120 = —3x + 54
By adding the line y = —3x+54 on the graph,
x=06or 11 (rej.)
The required number of handbags is 6.

Total cost of 10 belts and 6 handbags
= $[10x (10* =20 x 10 +120) + 6(6% — 17 x 6 + 186)|
=$920

Total income for selling the belts and handbags
= $[6x100+4 x300+4 x 10+2 x 60]
=$1960
.*. She gained $1040.
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50 :‘::::::::::: (iv) P(7T>1200)=0

ot T A
Eaus :%T"“ﬁs:“:::‘f*': T / : (b) Let the total weight obtained in the afternoon be 7* .

O NN T P T, @  P(7" <450 or T >850)
R PN TR e e ER TR 156

B0 01 0 A 0 I I L =156, 9
0 T S S e A T 245 245
B0 R A A R A MR _ 33
20 SEY TET CPF P S FEV PRV-APY FRE SR PRS- POR 14N ....\»... Tooggs+ o EET EER PR SPF EET e o 49

o e e @  P(T-7>200)

0L 1 U 0 0 0 I 0 0 Y y=3x 4+ 54
R R e T - (156) 16) (9)’
0 2 4 6 8 o 12 14 16 * 245 49 245

_ 29208
60025




15. (@ @)

(ii)

(i)

® O

(i)

_ Table 1 Ay 4, | Az 4, A3—>A4
“Number of squares addcd 3 9 27
-Length of sides of lhe S ¢ £ £
“squarcs added - L5 3 9 27
Total arca of all the squares in 4,
= €+ 35 4965 + 27
= (1+ + )32
_ 40 2
27 ¢
caalelo 1o g
k= (1+3+9+27+ 74
.
L1
3
-3
S5 Y}
Table 2 B, B, By B,
Perimeter 4 6¢ 8¢ 10¢
Perimeter of B,

= &£ +(n~ (20
= 2n+1)¢

The perimeter of B, would tend to infinity if # increases

indefinitely.

16.

(@ (i) v ZLCAE=90°
: ZCAE + £ FFEA = 180°
Hence  ABHEF (int. Zs supp.)
(i) ~ ZFDE=,/CDB {vert. opp. £5)

ZCDB = ZCBD {base s, isos. A)
LCBD = £FED (alt. Zs, ABI/EF)
ZFDE = Z/FED

Hence FD =FE (sides opp. equal £s)

(m) Let ¢ be the circle passing through D and touching AE at £
£ touches AE at E and EF L AE .
the centre of £ lies on the line EF .

ED isachordof ¢ and FD = FE.
the centre of & lies on the perpendicular of DE through F

F is the intersection of the lines which is the centre of £.

by Mid-point of DE = (-3, 3)
-~ ED is horizontal
. x~coordinate of F = -3

Slope of AE =~
i Cy=3_1
Equation of £F: P
x—2y+10=10

Sub. x= -3 into £F,
-3-2y+10=0
=1
Y=3

_ 7
F=(-3, E)





